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Answer Key

PART Il: READING COMPREHENSION (35 MARKYS)

A. Choose the best answer according to Passage 1 (4 x 2 = 8 marks)

1l.a 2.a 3.c 4.d

B. Complete the paragraph using only ONE word from Passage 1 (5 x
2 =10 marks)

1. challenging 2. abstain 3. affects 4.e-mailing 5.chatting

C. Indicate whether the following statements are TRUE or FALSE
according to Passage 2. (6 x 2 = 12 marks)

1.F 2F 3.F 4T ST ©6.F

D. Make short notes from Passage 2 under each of the headings
below. (5x 1 =5 marks)

a. Three negative effects of keeping animals away from their natural
habitats — (Any three)
e Animals become stressed

e Animals suffer mentally

e Animals suffer physically

e Suffering is caused by splitting up families
e Animals behave unnaturally




e Animals may die earlier
e Animals try to commit suicide

b. Two ways zoos can benefit the public- (Any two)

e Can be educated about conservation issues
e Can be inspired to protect animals
¢ Can be inspired to protect animals’ habitats
e Can carry out important research.

PART Ill: USE OF ENGLISH (30 MARKS)

A. Complete the second sentence so that it has a similar meaning to
the first sentence, using the word given. Do not change the word

given.
(5 x 1 =5 marks)

. ... must have forgotten ...

. Having eaten breakfast,.../ After having eaten breakfast..

1
2
3. ...1960, did Cyprus gain ...
4. ...is believed to be ...

5

. ... will have been married for ...

B. Complete the gaps with ONE suitable word. (10 x 1 =10 marks)
1. THE 2. THAT 3.TO 4. ON/BUYING 5. IN

6. BE/IGET 7.THAN 8. WHAT 9.FOR 10.CASE

C. Use the words in brackets to form words that fit the blanks. (10 x 1
=10 marks)

1.CRITICISM 2. SUSPENSION 3.CUSTOMERS
4. NECESSARILY 5. COMPARISON 6. UNCONCERNED
7. ARGUMENT 8. PRODUCTIVE 9. FREEDOM

10. COMFORTABLE



D. Complete the dialogue below using the correct sentence A-E from
the box. (5 x 1 =5 marks)

1E 2A 3B 4D 5C



